

REMARKS ON THE FINITE HEINE TRANSFORMATIONS

JIAN-PING FANG

*School of Mathematical Science, Huaiyin Normal
University, Huaian, Jiangsu 223300, P. R. China*

Abstract: In this paper, we use the finite Heine ${}_2\Phi_1$ transformations given in [4] and some elementary simplifications to obtain several Rogers-Ramanujan type identities.

2000Msc: 05A30; 33D15; 33D60; 33D05

Keywords: q -Series; Rogers-Ramanujan type identity; Finite Heine transformation

1. Introduction

Heine ${}_2\Phi_1$ transformation formula play a fundamental role in the theory of q -series. There are many applications of this formula. Recently, G. E. Andrews [4] gave several finite Heine ${}_2\Phi_1$ transformations from the terminating Sears ${}_3\Phi_2$ transformation. Then he used them to give two finite Rogers-Ramanujan type identities. In this paper, using the method in [4], we get the identities

$$\sum_{k=0}^M \frac{q^{\binom{k}{2}}}{(-q; q)_k (q; q)_{M-k}} = \frac{2}{(q; q)_M (1 + q^M)}, \quad (1.1)$$

$$\sum_{k=0}^M \frac{q^k}{(q^2; q^2)_k} = \frac{1}{(-q; q)_M} \sum_{k=0}^M \frac{q^{\binom{k+1}{2}}}{(q; q)_{M-k}}, \quad (1.2)$$

$$\sum_{k=0}^M \frac{q^k}{(cq; q)_k} = \frac{(q; q)_{M+1}}{(cq; q)_M} \sum_{k=0}^M \frac{(-c)^k q^{\binom{k+1}{2}}}{(q; q)_{k+1} (q; q)_{M-k}}, \quad (1.3)$$

E-mail address: fjp7402@163.com.

where

$$(a; q)_0 = 1, \quad (a; q)_n = \prod_{k=0}^{n-1} (1 - aq^k), \quad n = 1, 2, \dots$$

and

$$(a; q)_\infty = \prod_{k=0}^{\infty} (1 - aq^k).$$

Clearly (1.1) and (1.2) converge to

$$\sum_{k=0}^{\infty} \frac{q^{\binom{k}{2}}}{(-q; q)_k} = 2, \quad (1.4)$$

$$\sum_{k=0}^{\infty} q^{\binom{k+1}{2}} = \frac{(q^2; q^2)_\infty}{(q; q^2)_\infty} \quad (1.5)$$

as $M \rightarrow \infty$ respectively. Equation (1.4) dues to Andrews [1], equation (1.5) can be found in [2, 3, 5]. Letting $c = -1, M \rightarrow \infty$, the third identity dues to S. O. Warnaar [17]

$$\sum_{k=0}^{\infty} \frac{q^k}{(-q; q)_k} = 2 - \frac{1}{(-q; q)_\infty}. \quad (1.6)$$

Applying the limits of the finite Heine transformation formulas and some elementary techniques, we also get the following identities

$$\sum_{n=0}^{\infty} \frac{q^{2n+2}}{(q; q)_{2n+2}} = \frac{1}{2(q; q)_\infty} + \frac{1}{2(-q; q)_\infty} - 1, \quad (1.7)$$

$$\sum_{n=0}^{\infty} \frac{q^{2n+1}}{(q; q)_{2n+1}} = \frac{1}{2(q; q)_\infty} - \frac{1}{2(-q; q)_\infty}, \quad (1.8)$$

$$\sum_{n=0}^{\infty} \frac{q^{2n^2+n}}{(q; q)_{2n}} = \frac{(q; q)_\infty + (-q; q)_\infty}{2}, \quad (1.9)$$

$$\sum_{n=0}^{\infty} \frac{q^{2n^2+3n}}{(q; q)_{2n+1}} = \frac{(-q; q)_\infty - (q; q)_\infty}{2q}. \quad (1.10)$$

The first two identities can be easily derived from q -binomial theorem, the last two are not included in the papers [1-7, 11, 14-17].

Throughout the paper, we take $0 < |q| < 1$. And we also use the following notations

$$(a_1, a_2, \dots, a_m; q)_n = (a_1; q)_n (a_2; q)_n \dots (a_m; q)_n,$$

$$\left[\begin{matrix} a_1, & a_2, & \dots, & a_r; & q \\ b_1, & b_2, & \dots, & b_s; & q \end{matrix} \right]_n = \frac{(a_1, a_2, \dots, a_r; q)_n}{(b_1, b_2, \dots, b_s; q)_n},$$

and

$$\begin{aligned} & {}_r\Phi_s \left(\begin{matrix} a_1, & \dots, & a_r \\ b_1, & \dots, & b_s \end{matrix}; q, x \right) \\ &= \sum_{n=0}^{\infty} \left[\begin{matrix} a_1, & a_2, & \dots, & a_r \\ q, & b_1, & \dots, & b_s \end{matrix}; q \right]_n \left[(-1)^n q^{n(n-1)/2} \right]^{1+s-r} x^n, \end{aligned}$$

and

$$\left[\begin{matrix} n \\ k \end{matrix} \right] = \frac{(q; q)_n}{(q; q)_k (q; q)_{n-k}}.$$

2. Main Results

In [4], G. E. Andrews gave the following finite Heine transformation formulas

Lemma 2.1. We have

$$\begin{aligned} & {}_3\Phi_2 \left(\begin{matrix} q^{-M}, & a, & b \\ q^{1-M}/x, & c; & q, q \end{matrix} \right) \\ &= \frac{(ax, b; q)_M}{(x, c; q)_M} {}_3\Phi_2 \left(\begin{matrix} q^{-M}, & x, & c/b \\ cq^{1-M}/b, & ax; & q, q \end{matrix} \right). \end{aligned} \quad (2.1)$$

Lemma 2.2. We have

$$\begin{aligned} & {}_3\Phi_2 \left(\begin{matrix} q^{-M}, & a, & b \\ q^{1-M}/x, & c; & q, q \end{matrix} \right) \\ &= \frac{(ax, c/a; q)_M}{(x, c; q)_M} {}_3\Phi_2 \left(\begin{matrix} q^{-M}, & a, & abx/c \\ aq^{1-M}/c, & ax; & q, q \end{matrix} \right). \end{aligned} \quad (2.2)$$

Lemma 2.3. We have

$$\begin{aligned} & {}_3\Phi_2 \left(\begin{matrix} q^{-M}, & a, & b \\ q^{1-M}/x, & c; & q, q \end{matrix} \right) \\ &= \frac{(abx/c; q)_M}{(x; q)_M} {}_3\Phi_2 \left(\begin{matrix} q^{-M}, & c/a, & c/b \\ cq^{1-M}/abx, & c; & q, q \end{matrix} \right). \end{aligned} \quad (2.3)$$

In [4], Andrews applied terminating Sears ${}_3\Phi_2$ transformation and some elementary techniques to arrive them. In fact, the identities above can be obtained from the identity

$$\begin{aligned} & {}_3\Phi_2 \left(\begin{matrix} q^{-M}, & a, & b \\ c, & d; & q, q \end{matrix} \right) \\ &= a^n \frac{(d/a, b; q)_M}{(c, d; q)_M} {}_3\Phi_2 \left(\begin{matrix} q^{-M}, & c/b, & q^{1-M}/d \\ aq^{1-M}/d, & q^{1-M}/b; & q, q \end{matrix} \right) \end{aligned} \quad (2.4)$$

given by Gasper [10]. It is an extension of q -Chu-Vandermonde's identity. In [8, p. 1402], we gave a new proof and an application of it. To make our paper self-contained, we present the following proofs.

Proofs of Lemmas 2.1-2.3

For the left hand side of (2.4) is a symmetrical about the variable c and d , we have

$$\begin{aligned} & {}_3\Phi_2 \left(\begin{matrix} q^{-M}, & a, & b \\ & c, & d \end{matrix}; q, q \right) \\ &= a^M \frac{(c/a, b; q)_M}{(c, d; q)_M} {}_3\Phi_2 \left(\begin{matrix} q^{-M}, & & \\ & d/b, & q^{1-M}/c \\ & aq^{1-M}/c, & q^{1-M}/b \end{matrix}; q, q \right). \end{aligned} \quad (2.5)$$

Iterating (2.5), we have (cf.[9, p. 61, Eq. (3.2.3)])

$$\begin{aligned} & {}_3\Phi_2 \left(\begin{matrix} q^{-M}, & a, & b \\ & c, & d \end{matrix}; q, q \right) \\ &= \left(\frac{ab}{c} \right)^M \frac{(cd/ab; q)_M}{(d; q)_M} {}_3\Phi_2 \left(\begin{matrix} q^{-M}, & & \\ & c/b, & c/a \\ & cd/ab, & c \end{matrix}; q, q \right). \end{aligned} \quad (2.6)$$

Again iterating (2.6), we have

$$\begin{aligned} & {}_3\Phi_2 \left(\begin{matrix} q^{-M}, & a, & b \\ & c, & d \end{matrix}; q, q \right) \\ &= a^M \frac{(c/a, d/a; q)_M}{(c, d; q)_M} {}_3\Phi_2 \left(\begin{matrix} q^{-M}, & & \\ & abq^{1-M}/cd, & a \\ & aq^{1-M}/d, & aq^{1-M}/c \end{matrix}; q, q \right) \end{aligned} \quad (2.7)$$

Letting $d = q^{1-M}/x$, equation (2.4) turns to (2.1), equation (2.6) reduces to (2.3), equation (2.7) come to (2.2). Now we complete the proofs. ■

Setting $x = q$, then letting $b \rightarrow 0$, Lemma 2.1 comes to

Theorem 2.1. We have

$$\sum_{k=0}^M \frac{(a; q)_k q^k}{(q, c; q)_k} = \frac{(aq; q)_M}{(c; q)_M} \sum_{k=0}^M \frac{(-c)^k q^{\binom{k}{2}}}{(aq; q)_k (q; q)_{M-k}}. \quad (2.8)$$

Taking $x = q$, then letting $c \rightarrow 0$, Lemma 2.2 reduces to

Theorem 2.2. We have

$$\sum_{k=0}^M \frac{(a, b; q)_k q^k}{(q; q)_k} = \frac{(a; q)_{M+1}}{(q; q)_M} \sum_{k=0}^M \begin{bmatrix} M \\ k \end{bmatrix} \frac{(-bq)^k q^{\binom{k}{2}}}{1 - aq^k}. \quad (2.9)$$

Putting $x = q$, then letting $a \rightarrow 0$ in Lemma 2.3, we have

Theorem 2.3. We have

$$\sum_{k=0}^M \frac{(b; q)_k q^k}{(q, c; q)_k} = \sum_{k=0}^M \frac{(-bq)^k q^{\binom{k}{2}} (c/b; q)_k}{(q, c; q)_k (q; q)_{M-k}}. \quad (2.10)$$

In (2.10), taking $q \rightarrow 1/q$, then replacing (b, c) by $(1/b, 1/c)$ respectively, we get

Theorem 2.4. We have

$$\sum_{k=0}^M \frac{(b; q)_k (-c/b)^k q^{\binom{k}{2}}}{(q, c; q)_k} = \sum_{k=0}^M \frac{(-1)^k q^{\binom{k+1}{2}} (c/b; q)_{M-k}}{(q; q)_k (q, c; q)_{M-k}}. \quad (2.11)$$

3. Some special cases

Theorem 3.1. Identity (1.1) is valid.

Proof. In (2.8), setting $a = c = -1$ in (2.8), we complete the proof. ■

Theorem 3.2. Identity (1.2) is valid.

Proof. In (2.8), setting $a = 0, c = -q$, we complete the proof. ■

Theorem 3.3. Identity (1.3) is valid.

Proof. In (2.8), setting $a = q, c \rightarrow cq$, we complete the proof. ■

In (2.8), setting $a = -1, c = q$, we have

Theorem 3.4. We have

$$\sum_{k=0}^M \frac{(-1; q)_k q^k}{(q; q)_k^2} = \frac{(-q; q)_M}{(q; q)_M} \sum_{k=0}^M \frac{(-q)^k q^{\binom{k}{2}}}{(-q; q)_k (q; q)_{M-k}}. \quad (3.1)$$

In (2.9), setting $a = q$, we have

Theorem 3.5. We have

$$\sum_{k=0}^M (b; q)_k q^k = (1 - q^{M+1}) \sum_{k=0}^M \left[\begin{matrix} M \\ k \end{matrix} \right] \frac{(-bq)^k q^{\binom{k}{2}}}{1 - q^{k+1}}. \quad (3.2)$$

In (2.10), letting $b \rightarrow 0, q \rightarrow q^2$, we have

Theorem 3.6. We have

$$\sum_{k=0}^M \frac{q^{2k}}{(q^2, c; q^2)_k} = \sum_{k=0}^M \frac{q^{2k^2} c^k}{(q, c; q^2)_k (q^2; q^2)_{M-k}}. \quad (3.3)$$

In (2.11), taking $c = q, b = -1$, we get

Theorem 3.7. We have

$$\sum_{k=0}^M \frac{q^{\binom{k+1}{2}} (-1; q)_k}{(q; q)_k^2} = \sum_{k=0}^M \frac{(-1)^k q^{\binom{k+1}{2}} (-q; q)_{M-k}}{(q; q)_k (q; q)_{M-k}^2}. \quad (3.4)$$

In (1.3), setting $M \rightarrow \infty$, we have

Theorem 3.8. For $0 < |c| < 1$, we have

$$\sum_{k=0}^{\infty} \frac{q^k}{(cq; q)_k} = 1 - \frac{1}{c} + \frac{1}{c(cq; q)_{\infty}}. \quad (3.5)$$

If $c \rightarrow -1$, equation (3.5) reduces to the identity (1.6).

Theorem 3.9. Identity (1.7) is valid.

Proof. Setting $b = q, c = -q, M \rightarrow \infty$ in (2.10), combining with (1.6), we have

$$\sum_{k=1}^{\infty} \frac{(-1)^k q^{2k} q^{\binom{k}{2}}}{(q; q)_{k-1} (1 - q^{2k})} = (q; q)_{\infty} - \frac{(q; q)_{\infty} (q; q^2)_{\infty}}{2} - \frac{1}{2}. \quad (3.6)$$

For

$$\begin{aligned} \sum_{k=1}^{\infty} \frac{(-1)^k q^{2k} q^{\binom{k}{2}}}{(q; q)_{k-1} (1 - q^{2k})} &= \sum_{k=0}^{\infty} \frac{(-1)^{k+1} q^{2k+2} q^{\binom{k+1}{2}}}{(q; q)_k} \sum_{n=0}^{\infty} q^{(2m+2)n} \\ &= - \sum_{n=0}^{\infty} q^{2n+2} \sum_{k=0}^{\infty} \frac{(-1)^k q^{(2n+3)k} q^{\binom{k}{2}}}{(q; q)_k} = -(q; q)_{\infty} \sum_{n=0}^{\infty} \frac{q^{2n+2}}{(q; q)_{2n+2}}. \end{aligned}$$

Substituting the identity above into (3.6), from $(q; q^2)_{\infty} (-q; q)_{\infty} = 1$, we complete the proof. ■

Corollary 3.1. Identity (1.8) is valid.

Proof. Applying (1.7), then combining with the q -binomial theorem, we immediately complete the proof. ■

Remark. The two identities (1.7) and (1.8) can be easily derived from the q -binomial theorem. For example, from

$$\begin{aligned} \sum_{k=0}^{\infty} \frac{q^{2k}}{(q; q)_{2k}} &= \frac{1}{2} \sum_{k=0}^{\infty} \frac{(1 + (-1)^k)q^k}{(q; q)_k} \\ &= \frac{1}{2} \sum_{k=0}^{\infty} \frac{q^k}{(q; q)_k} + \frac{1}{2} \sum_{k=0}^{\infty} \frac{(-1)^k q^k}{(q; q)_k} \\ &= \frac{1}{2(q; q)_{\infty}} + \frac{1}{2(-q; q)_{\infty}}, \end{aligned}$$

we get the identity (1.7). So we conclude that

Corollary 3.2. If $\omega^n = 1, \omega \neq 1, n = 1, 2, \dots$, then

$$\sum_{k=0}^{\infty} \frac{q^{nk}}{(q; q)_{nk}} = \frac{1}{n} \sum_{s=0}^{n-1} \frac{1}{(q\omega^s; q)_{\infty}}.$$

Corollary 3.3. Identity (1.9) is valid.

Proof. Setting $c = q, M \rightarrow \infty$ in (3.3), then applying (1.7), we complete the proof. ■

Corollary 3.4. Identity (1.10) is valid.

Proof. Setting $c = q^3, M \rightarrow \infty$ in (3.3), then using (1.8), we complete the proof. ■

As $M \rightarrow \infty$, (3.1), (3.2) and (3.4) tend to

$$\sum_{k=0}^{\infty} \frac{(-1; q)_k q^k}{(q; q)_k^2} = \frac{(-q; q)_{\infty}}{(q; q)_{\infty}^2} \sum_{k=0}^{\infty} \frac{(-1)^k q^{\binom{k+1}{2}}}{(-q; q)_k}, \quad (3.7)$$

$$\sum_{k=0}^{\infty} (b; q)_k q^k = \frac{1}{b} - \frac{(b; q)_{\infty}}{b}, \text{ where } 0 < |b| < 1, \quad (3.8)$$

$$\sum_{k=0}^{\infty} \frac{q^{\binom{k+1}{2}} (-1; q)_k}{(q; q)_k^2} = \frac{(-q; q)_{\infty}}{(q; q)_{\infty}} \quad (3.9)$$

respectively. The identity (3.8) can be found in G. E. Andrews, J. Jiménez-Urroz and K. Ono's paper [6].

Acknowledgements

The author supported by Innovation Program of Shanghai Municipal Education Commission (No. 08ZZ2415) and Talent Cultivation Program of Huaiyin Normal University (No. 08QNZCK001). The work also supported by Universities Natural Science Foundation of Jangsu (No. 09KJB110002) and National Natural Science Foundation of China (No. 10971078)

REFERENCES

- [1] G. E. Andrews, *Enumerative proofs of certain q -identities*, Glasgow Math. J. **8** (1967), 33–40.
- [2] G. E. Andrews, *The Theory of Partitions*, Addison-Wesley, Reading, MA, (1976).
- [3] G. E. Andrews, S. O. Warnaar, *The product of partial theta functions*, Adv. Appl. Math. **39** (2007), 116–120.
- [4] G. E. Andrews, *The Finite Heine Transformation* (Preprint).
- [5] G. E. Andrews, B. C. Berndt, *Ramanujan's Lost Notebook, Part I*, Springer (2005).
- [6] G. E. Andrews, J. Jiménez-Urroz and K. Ono, *q -Series identities and values of certain L -functions*, Duke Math. J. (Preprint).
- [7] B. C. Berndt, S. H. Chan, B. P. Yeap, Ae Ja Yee, *A reciprocity theorem for certain q -series found in Ramanujan's lost notebook*, Ramanujan J. **13** (2007), 27–37.
- [8] J. P. Fang, *q -Differential operator identities and applications*, J. Math. Anal. Appl. (2007), 1393–1407.
- [9] G. Gasper, M. Rahman, *Basic Hypergeometric Series*, Cambridge University Press, Cambridge, Ma (1990).
- [10] G. Gasper, *Elementary Derivations of Summations and Transformation Formulas for q -series*, Field Institute Communication **00(0000)** (1995), 1–16.
- [11] V. K. Jain, *Transformations of Basic Hypergeometric Series and Their Applications*, Proc. Amer. Math. Soc. **78** (3) (1980), 375–384.
- [12] Z.-G. Liu, *An Expansion Formula for q -Series and Applications*, The Ramanujan J. **6** (2002), 429–447.
- [13] Z.-G. Liu, *Some Operator Identities and q -Series Transformation Formulas*, Discrete Math. **265** (2003), 119–139.
- [14] L. J. Rogers, *On the expansion of some infinite products*, Proc. London Math. Soc. **24** (1893), 337–352.
- [15] A. V. Sills, *Identities of the Rogers-Ramanujan-Bailey type*, Elec. J. Combin. **10** (1) (2003), #R13, 1–122.
- [16] L. J. Slater, *Further Identities of The Rogers-Ramanujan Type*, Proc. London Math. Soc. **54** (2) (1952), 147–167.
- [17] S. O. Warnaar, *Partial Theta Functions. I. Beyond The Lost Notebook*, Proc. London Math. Soc. **87**(2) (2003), 363–395.